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Taking a Standardized Test
Test-Taking Tip: Reword Difficult Questions
When you take a test, read each question carefully. Decide what the question is really asking. Rewrite the question in your own words so you can more easily make sense of it.

Read the following question and answer choices.
Why are cellular respiration and photosynthesis considered to be opposite reactions?
A. Cellular respiration requires energy, but photosynthesis does not.

B. Photosynthesis occurs in the day, and respiration takes place at night.

C. Plants undergo photosynthesis, but only animals undergo respiration.

D. The products of one reaction are the reactants of the other.

Step 1 What is the question asking? The question is asking you to identify an aspect of one chemical reaction that is the opposite of an aspect of the other chemical reaction.
Step 2 Rewrite the test question in your own words. What is it about cellular respiration that is the opposite of photosynthesis?
Step 3 Write some possible answers to this question. Photosynthesis produces oxygen and cellular respiration uses oxygen.

Step 4 Read each answer choice carefully.
Step 5 Find the answer choice that most closely matches your own. The correct answer is D because oxygen is a reactant in cellular respiration and a product of photosynthesis.

Self-Test
Practice what you have learned by answering the following questions. Rewrite each test question in your own words on a separate sheet of paper. Then circle the correct answer.
1. For the first few seconds of a race, a runner relies on ATP from

A. storage in muscles.

B. lactic acid fermentation.

C. cellular respiration.

D. pyruvic acid buildup.

2. During a 90-second sprint, most of the ATP that produces energy is made by

A. lactic acid fermentation.

B. photosynthesis.

C. cellular respiration.

D. pyruvic acid buildup.

3. During exercise, the buildup of lactic acid in muscle cells results in

A. alcoholic fermentation

B. the Calvin cycle

C. the Krebs cycle

D. an oxygen debt
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4. Marathon runners need energy for a long time. Most of their energy comes from

A. lactic acid fermentation.

B. photosynthesis.

C. cellular respiration.

D. pyruvic acid buildup.

5. The first step in releasing the energy of glucose in the cell is known as

A. fermentation.

B. glycolysis.

C. the Krebs cycle.

D. electron transport.
6. Because fermentation occurs in the absence of oxygen, it is said to be

A. aerobic.

B. anaerobic.

C. cyclic.

D. oxygen-rich.

7. Which process releases the most ATP?

A. alcoholic fermentation

B. glycolysis

C. Krebs cycle

D. electron transport

8. The Krebs cycle occurs in the

A. mitochondrion.

B. cytoplasm.

C. nucleus.

D. chloroplast.

Short-Response Question

Answer the following question in two or three sentences.

9. Which kind of fermentation is most important to bakers? What would happen to the bread without this kind of fermentation?


___

___

___

___

___

___

___

___
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